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7. Use properties of radicals to write an
expression that is equivalent to
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12. Place a number from 0-9 in each box
to make the equation true.
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17. A. Select the expressions that are o\fi:
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equivalent to 252,  B. Choose digits to fill the
3
P N boxes to show the value of 25z. You do not
(42 (V4 )3 (43 ) need to use all the boxes.

14. Express Va2 using rational exponents. A.
P_lace a positive or negat|.ve sign in the (%/-2’:5-3 T
circle and one digit (0-9) in each box to : e

make the equation true.
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15. Place one number in each box so the
simplified expression will be an integer.
Then simplify the expression in part A.

Place one number in the box to show the 18. Which expression represents an irrational
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Which statement is always true?

(& The product of two irrational numbers is irrational. =~
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21. Aballis dropped from 5,000 meters above
ground. The distance it has fallen after t
seconds is expressed as 4.9t2.  Which
expression represents the height of the ball
after t seconds?
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The product of a non-zero rational number and an irrational number is irrational. 7~

The sum of a rational number and an irrational number can be rational or irrational. 7

22. For the quadratic expression 3x* + 5x — 8,
identify each part as a term, coefficient, or

factor by placing it in the correct column. Ifan ( % o Y
expression does not fit into one of the

descriptions, leave it in the gray area.
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24. Under which operations is the set of all 28.
polynomials closed?

Subtract 10x* — 8 from 16x° + 2.
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What is the product of (2 - 4i)(3 + i)?
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-34. Select all the expressions that are
equivalent to 4/.
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35. What two complex numbers have a sum of
4 and a product of 297 Enter each number on
separate lines.
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What is one solution to the equation x* + 6x + 10 = 0?
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What is the solution set for the given equation?
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39. Kayla used the quadratic formula to solve
the equation shown. 2x*+2=0

Place operation symbols in the circles and digits
in the boxes to show the solutions to this
equation in a + bi form.
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40. 44, What are the zeros of y = x? + 4x = 57

5 B e — d "r"“j >C"\
What are the roots of x™ — 4x + 57 & p=el@ily ==5 CK _ié ‘)
-5
[~} = s
e B r=-landx=§
@® 1and3 o ﬁgwwarsﬁa )
- Ji— @ x=l1andy=-5
@ 3and5 i)
— M r=landx=35
@ 2+7and2 - Ly [u"
@ 242and2 - 2i e | 45, What is the factored form of x* + 9?
AL - J”'i @ (x+30{x +3i)
@ @ (x—3Hx+3)

Factor the expression shown.
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s B : Complete the square o rewrite this equation in the form (x — p)* = 4.
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What are the solutions to the equation y* — 55 4+ 4 = 27
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James wants to solve this quadratic equation by completing the square
£ -6x+3=0
His first step in solving the equation by this methaod is as follows:

¥ -6x+3 = 0
X —6x = =3

What are the next two steps to solve using this method?
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(x+3F = 6
D r-6x+9 = -3
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